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g2t (Blood pressure)
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Blood pressure (BP) =
Cardiac output (CO) X Systemic vascular resistance (SVR)

Cardiac output = Stroke volume (SV) X Heart rate (HR)
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BP = CO X SVR
CO =SV X HR

ex> 2H°8 Al CO = 70bpm X 70 ml
(1) 25 A| HR, SV &7}
CO = 100bpm X 85ml > BP 1
2) €Al sva
CO = 70bpm X 50ml - BP |

F dY2CO t orSVRt >BP t;CO | orSVR | > BP |
ISt HR t orSV + > CO ¢t
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Y =H 7|H 2: Renin-Angiotensin system
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. etiology is complex; abnormal renin release constricts arterioles;
arteriolar thickening

- O|Xpd DY (secondary HT)
. results from identifiable sources; renovascular disease, diabetes
mellitus, dysfunction of thyroid




DAY (Hypertension)
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¢ =7%: BP < 140/90mmHg X
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DU B2 MBYASH

& NIZTLZ: BMI < 23,

o2l =8| 0 Xt<85cm (33.5 21 X[) HAt<95cm (35.4 2IX])
& EE2Xoh @& 2~3g/day= Y LSt
<+ WHO LIEEHZEZ <2000mg (& 59)

2 QAII:I- |_|-E Eol-EII

B&: 4000mg, & 3400mg, Z=3= 2900mg, 2t™: 2100mg, ZHRHE
2700mg, =&MW 7H: 900mg
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